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Q6. __________ is the synonym of "AMIABLE." 
 

A. Hostile B. Peculiar 

C. Friendly D. Aloof 

 

Q7. __________ is the antonym of "FASCINATING." 
 

A. Boring B. Interesting 

C. Inspiring D. Exciting 

 

Q8. Identify the meaning of the idiom in the sentence. 

"After such bad results, we have to go back to square one" 
 

A. To go back to the beginning B. To go where everyone is going 

C. To end the task D. To work harder 

 

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence. 

"She winned this competition last year too." 
 

A. She won this competition last year too. B. She was winning this competition last year too. 

C. She is winning this competition every year. D. She has won this competition last year too. 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 

She ___________ (get) the mail last week. 
 

A. gets B. gotten 

C. get D. got 

 

Q11. In which year was the Battle of Plassey fought? 
 

A. 1764 B. 1782 

C. 1748 D. 1757 

Q11. +ल?9I �ी लड?� ��9 =}? लडI �� .I? 
 

A. 1764 B. 1782 

C. 1748 D. 1757 
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Q12. Bringing the prominent brands of food and the hospitality industries from India and the 

rest of the world, the premier annual event of the India Trade Promotion Organisation 

(ITPO), AAHAR 2019 was held in __________. 
 

A. Chandigarh B. Shimla 

C. Jammu D. New Delhi 

Q12. .?1- -.? >O} /J�?0? �O  �=�>� �?o �=� ��-m0 �oK�ो䬂 �K .?1- /O ल??O �O  �oO�0 9O, ���?0? ्䵏O? �/K>? ��O??��O>? (ITPO), 

AAHAR 2019 �? �/J� =?�}?� �0K�? __________ /O :ु� .?। 
 

A. ��!I�] B. ??/ल? 

C. �o/ू D. 0� /?ल㉍लI 
 

Q13. The Salal project is on the Chenab river of the Indian state of ________. 
 

A. Haryana B. Jammu and Kashmir 

C. Himachal Pradesh D. Rajasthan 

Q13. 9ल?ल +र10K�??, .?1-I0 1?जᱍ0 ________ �O  �ि??- ?/I +1 :P। 
 

A. :10?+? B. �o/ू �1 ��/I1 

C. /:/?�ल �?O? D. 1?�}-?0 

 

Q14. Where is the famous festival of Nabakalebara celebrated? 
 

A. Rajasthan B. Odisha 

C. Jharkhand D. West Bengal 

Q14. ??-?�लO-?1? �? ��9p m0K:?1 �:?� /??0? �?-? :P? 
 

A. 1?�}-?0 B. �)I9? 

C. �?1��! D. +���/ -��?ल 
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Q15. Ancient name of _______ river of Haryana was Aruna. 
 

A. Markanda B. Sahibi 

C. Tangri D. Ghaggar 

Q15. :र10?,? �ी _______ ?/I �? �?िI? ??/ 
y,? .?। 
 

A. /?�ं! B. 9?/:-I 

C. �?��1I D.  _�1 
 

Q16. Who amongst the following has served as the Chief Minister of Haryana for maximum 

number of times? 
 

A. Shri Om Prakash Chautala B. Chaudhary Devi Lal 

C. Shri Bansi Lal D. Rao Birender Singh 

Q16. �?म⹍? /O 9O �L? 9-9O 
�?� 9/0 -� :र10?,? �O  /J_0/�}I 1:O :ै䠂? 
 

A. ्䵦I �/��?? �L�?ल? B. �L/1I ?O=I ल?ल 

C. ्䵦I -�9I ल?ल D. 1?= --1े䜂� ?9�: 
 

Q17. Kunal in Fatehabad is important because of being a _________. 
 

A. Industrial headquarters of Haryana B. Site of Pre-Harappan civilisation 

C. Mining centre for semi-precious stones D. Forest Conservative region of Haryana 

Q17. ,-:?-?/ /O �J ,?ल �� _________ :K?O �O  �?1, /:m=+K,? :P। 
 

A. :910?+? �? �द♍0K��� /I_0?ल0 B. +=ू= :)o+? 9m0,? }-ल 

C. 
द♍=/ -:I/लू㉍0 1m0 �00 �O o� D. :910?+? �? =0 9�1्䵌� ्䵌O} 
 

Q18. __________ of Haryana is also known as 'Dharmakshetra' ("Holy Place"). 
 

A. Kaithal B. Panipat 

C. Kurukshetra D. Sirsa 
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Q18. :र10?,? �O  __________ �K '?/?�O}' ("+�=} }.??") �O  ??/ 9O .I �??? �?-? :P। 
 

A. �P -ल B. +?0I+, 

C. �I y्䵌O} D. ?919? 
 

Q19. In the Asian Games 2018, held in Jakarta-Palembang, Neeraj Chopra of Panipat, won a 

gold in ________. 
 

A. Javelin Throw B. Shotput 

C. Wresting D. Boxing 

Q19. ��?-??-+?लO/-�� /O �0K��-, 2018 ��>0?� �Oलो䬂 /O, ?I1� िK+ड?, �K +??I+- 9O :ै䠂, �न⡍:ो䬂?O ______ /O }=,? +/� �I-? .?। 
 

A. .?ल? ,े䜂 � B. ?I�+I� 

C. �I �,I D. -I�M9�� 

 

Q20. Who will benefit under the current Haryana Power Tariff Subsidy Scheme 2018-2019? 

The benefits include Power Tariff Subsidy. 
 

A. Large Industrial units involved in Agro-based 

production 

B. Small and Micro Industries 

C. Individual farmers D. Industries that have more than 200 employees 

Q20. =-?/?? :र10?,? +Q=1 �Pर1, 9�99?I 0K�?? 2018-2019 �O  
�-�?- �L? ल?.?�न⡍=- :K�?? ल?. /O +?=1 �Pर1, 9�99?I >?�/ल :P। 
 

A. �ृ?? �/?91, �m+??0 /े䜂 ???/ल -)I �द♍0K��� ��?�0?? B. ल I �1 9ू�/ �द♍0K� 

C. 
�O लO ��9?0 D. ��0 �द♍0K�ो䬂 /े䜂 200 9O 
�/� �/=�?1I :ै䠂 
 

Q21. Where is the permanent campus of Shri Vishwakarma Skill University? 
 

A. Palwal B. Nuh 

C. Yamunanagar D. Charkhi Dadri 

Q21. ्䵦I �=��/?? �L>ल �=��=o?ल0 �? }.?0I +र191 �:?? :P? 
 

A. +ल=ल B. 0ू: 

C. 0/I0?0�1 D. �1�I ???1I 
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Q22. Department of Industries & Commerce, Haryana has proposed a textile park in 

_________. 
 

A. Fatehabad B. Sirsa 

C. Bhiwani D. Hisar 

Q22. :र10?,? �O  �oK� �1 =?�,जᱍ0 �=.?� ?O _________ /O �� �O]9�?�ल +?�?  �}-?�=- ��0? :P। 
 

A. ,,O:?-?? B. ?919? 

C. ?.=?0I D. /:9?1 
 

Q23. The Haryana Government has announced a ________ for Antyodaya Saral kendras to 

address the queries and complaints of applicants regarding the schemes and services. 
 

A. Toll free Helpline number B. Whatsapp number 

C. Mobile application D. Website 

Q23. :र10?,? 91�?1 ?O 0K�??� � �1 9O=?� � �O  -?1O /O �=O/�ो䬂 �O  9=?लो䬂 �1 �>�?0-ो䬂 �? �?1?�1, �1?O �O  �ल�, 
न⡍m0K/0 91ल 

�O न⡍9ो䬂 �O  ________ �ी  K},? �ी :P। 
 

A. �Kल �I :Oल㉍+ल?�0 0�-1 B. }:?टὍ9ए+ 0�-1 

C. /K-?�ल एoलI�O ?0 D. =O-9?�� 
 

Q24. Haryanvi literature is NOT enriched with ______ language. 
 

A. Hindi B. Pali 

C. Braj D. Urdu 

Q24. :र10?,=I 9?�:m0 ______ .?}? 9O 9/Lp ?:K :P। 
 

A. /:�?I B. +?लI 

C. }� D. �?ू= 
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Q25. Which award is given by Haryana Urdu Sahitya Academy for the contribution in the field 

of Urdu? 
 

A. Sahitya Award B. Urdu Award 

C. Urdu Ratna Award D. Hali Award 

Q25. �/K? �O  �O} /O 0K�/?? �O  �ल� :र10?,? �/K? 9?�:m0 
�?//I �?1? �L? 9? +J1}�?1 �/0? �?-? :P? 
 

A. 9?/:m0 +I1}�?1 B. �?ू= +I1}�?1 

C. �?ू= 1m0 +I1}�?1 D. :?लI +I1}�?1 
 

Q26. Who was declared as state poet of Haryana in Urdu along with Uday Bhanu Hans? 
 

A. Pt. Neki Ram B. Bhai Parmanand 

C. Khusiram Sharma D. Anup Chand Aftab 

Q26. �/0 .??J :�9 �O  9?.-9?. �1 ��9O �/K? /O :र10?,? �? 1?जᱍ0 ��=  K�}- ��0? �0? .?? 
 

A. +�)!, 0O�I 1?/ B. .?� +1/?0�? 

C. �I9I1?/ ?/?= D. 
0I+ ��? �,,?- 
 

Q27. __________ river enters Haryana near Pinjore and then enters Rajasthan after flowing 

through Haryana. 
 

A. Sahibi B. Ghaggar 

C. Krishnavati D. Dohan 

Q27. __________ ?/I �+��L1 �O  +?9 :र10?,? /O �=O> �1-I :P �1 �,1 :र10?,? 9O -:?O �O  -?/ 1?�}.?? /O �=O> �1-I :P। 
 

A. 9?/:-I B.  _�1 

C. �ृ�+?=,I D. ?K:0 

 

Q28. After formation of Charkhi Dadri as 22nd district, which is the largest district of Haryana 

in terms of area? 
 

A. Sirsa B. Panchaula 

C. Faridabad D. Gurgaon 
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Q28. 22 =O ��लO �O  z+ /O ि1�I /?/1I �? �?/??, :K?O �O  -?/, �O},ल �ी o�? 9O :र10?,? �? 9-9O -ड? ��ल? �L? 9? :P? 
 

A. ?919? B. +���I ल? 

C. ,1I??-?? D. �I)�?�= 

 

Q29. Two lakes in Faridabad district are______________ and _____________. 
 

A. Badkal Lake, Surajkund Lake B. Damdama Lake, Hatnikund Lake 

C. Bhindawas Lake, Brahma Sarovar Lake D. Sukhna Lake, Sannihit Sarovar lake 

Q29. ,1I/?-?/ ��लO /O /K �IलO ______________ �1 _____________ :ै䠂। 
 

A. -?�ल �Iल, 91ू��I� ! �Iल B. ?/?/? �Iल, :-0I�I� ! �Iल 

C. ?.�!=?9 �Iल, }}/ 91K=1 �Iल D. 9I�0? �Iल, 9�o0/:, 91K=1 �Iल 

 

Q30. Where is Motilal Nehru Sports School situated in Haryana? 
 

A. Chandigarh B. Ambala 

C. Karnal D. Sonipat 

Q30. :र10?,? /O /K-Iल?ल ?O:z }+K�ट ?9 }�K ल �:?� �}.- :P? 
 

A. ��!I�] B. 
o-?ल? 

C. �10?ल D. 9K0I+, 

 

Q31. Which type of soil is found in arid and semi-arid parts of Haryana? 
 

A. Saline and Alkaline Soils B. Red Soil 

C. Black Soil D. Laterite Soil 

Q31. :र10?,? �O  >J�� �1 
?? >J�� .?�ो䬂 /O ��9 ��?1 �ी �/्䴾I �/ल-I :P? 
 

A. 0/�I0 �1 ्䵌?1I0 ?/टὍ�I B. ल?ल ?/टὍ�I 

C. �?लI ?/टὍ�I D. लO�O1?�� ?/टὍ�I 
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Q32. Which district of Haryana has the lowest number of seats in Haryana Legislative 

Assembly? 
 

A. Sirsa B. Panipat 

C. Panchkula D. Gurgaon 

Q32. :र10?,? �O  ��9 ��लO /O :र10?,? �=??? 9.? �ी 9-9O �/ 9I�O :ै䠂? 
 

A. ?919? B. +?0I+, 

C. +���I ल? D. �I)�?�= 

 

Q33. When the Finance Minister of the State presents the State Finance Budget, in whose name 

is the budget produced in the State Legislative Assembly? 
 

A. In the name of the President B. In the name of the Prime Minister 

C. In the name of the Chairman of Legislative 

Assembly 

D. In the name of the Chief Minister of state 

Q33. �- 1?जᱍ0 �O  �=m /�}I 1?जᱍ0 �=m -�� �}-J- �1-O :ै䠂, -- 1?जᱍ0 �=??? 9.? /O ��9�O  ??/ 9O -�� �}-J- ��0? �?-? :P? 
 

A. 1?�र+-, �O  0?/ 9O B. �/?0 /�}I �O  0?/ 9O 

C. ?=/?0 9.? �O  
o0्䵌 �O  0?/ 9O D. 1?जᱍ0 �O  /I_0/�}I �O  0?/ 9O 
 

Q34. The head of Municipal Corporation in Haryana is the ________. 
 

A. Sarpanch B. Mayor 

C. Municipal Director D. Municipal President 

Q34. ________, :र10?,? /O ?�1 �?�/ �O  �/J� :K-O :ै䠂। 
 

A. 91+�� B. /:?+L1 

C. 0�1+??ल�? -0?O?� D. 0�1+??ल�? 
o0्䵌 

 

Q35. ________________ is one of the four jungle fowls found in Shiwaliks of Haryana. 
 

A. Green jungle fowl B. Ceylon jungle fowl 

C. Grey jungle fowl D. Red jungle fowl 
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Q35. _________________ ि?1 ���ल ,?�ल /O 9O �� :P �K :र10?,? �O  �>=?�ल� /O +?0? �?-? :P। 
 

A. ्䵇I0 ���ल ,?�ल B. 9IलK0 ���ल ,?�ल 

C. ्䵇O ���ल ,?�ल D. 1O! ���ल ,?�ल 

 

Q36. Which of the following is a basic form of Operating System? 
 

A. Windows B. Unix 

C. MS DOS D. Mac OS 

Q36. �?म⹍?�ल��- /O 9O �L? �+1O���� �9}�/ �? �� /Kल z+ :P? 
 

A. ?=�!K� B. 0-ू0M9 

C. MS DOS D. Mac OS 

 

Q37. Which Haryana state scheme is based on the concept of activity-oriented learning? 
 

A. Ladli Yojana B. Apni Beti Apni Shiksha Yojana 

C. Beti Bachao Beti Padhao Yojana D. Mukhtya Mantri Shiksha Diksha Yojana 

Q37. �L? 9I :र10?,? 1?��ी0 0K�??, �ि0?�ल?+-�न⡍/J� �>�? �ी 
=??1,? +1 �??र1- :P? 
 

A. ल?!लI 0K�0? B. 
+0I -O�I 
+0I ??्䵌? 0K�0? 

C. -O�I -�?� -O�I +]?� 0K�0? D. /I_0 /�}I ??्䵌? ?I्䵌? 0K�0? 
 

Q38. During _____________ organized in the capital of Haryana, people walk through the Rose 

Garden and enjoy the beauty of roses. 
 

A. Festival of Flowers B. Festival of Gardens 

C. Festival of Roses D. Festival of Greenery 

Q38. :र10?,? �ी 1?�???I /O �0K��- _____________ �O  /L1??, लK� 1K� �???? /O �?-O :ै䠂 �1 �Jल?- �ी �K-9K1-I �? �?�/ 
� ?-O :ै䠂। 

 

A. ,ूलो䬂 �? /:Km9= B. �द♍0?0ो䬂 �? /:Km9= 

C. �Iल?-ो䬂 �? /:Km9= D. :910?लI �? /:Km9= 
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Q39. Which drive helps to write a CD? 
 

A. DVD burners B. Pen Drive 

C. Pen touch D. CD burners 

Q39. CD �ल�?O /O �L? 9I ्䵑?�= /// �1-I :P? 
 

A. DVD -0=1 B. +O0 ्䵑?�= 

C. +O0 �� D. CD -0=1 
 

Q40. Find the odd-one out in the following: 

 

Windy, Snowy, Rainy, Witty 
 

A. Windy B. Snowy 

C. Witty D. Rainy 

Q40. �?म⹍?�ल��- /O 9O 
9��- �? ि0? �1O: 
 

:=?/?1, -,Iल?, -19?-I, /�?��0? 
 

A. :=???1 B. -,Iल? 

C. /�?��0? D. -19?,I 
 

Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 

the original pair: 

 

Adult : Baby :: Flower : ______ 
 

A. Seed B. Fruit 

C. Butterfly D. Bud 

Q41. 9:I �=�ल㉍+ िJ?O �K /Kल �KडI �P9? 9म⹍-न⡍? �/�?-? :K: 
 

=0}� : �>>J :: ,K ल : ______ 
 

A. -I� B. ,ल 

C. -,,लI D. �लI 
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Q42. Find the missing number: 2, 5, 9, 14, ____, 27 
 

A. 19 B. 22 

C. 20 D. 25 

Q42. 
?J+�}.- 9�_0? _?- �1O: 2, 5, 9, 14, ____, 27 
 

A. 19 B. 22 

C. 20 D. 25 

 

Q43. If MANGO is called STRAWBERRY, STRAWBERRY is called APPLE, APPLE is 

called PAPAYA, and PAPAYA is called BANANA. What keeps a doctor way? 
 

A. APPLE B. STRAWBERRY 

C. PAPAYA D. BANANA 

Q43. 0�/ '�/' �K '}्䵏Q-O1I' �:? �?-? :P, '}्䵏Q-O1I' �K 89O-9 �:? �?-? :P, '9O-' �K '++I-?' �:? �?-? :P, �1 '++I-?' �K '�O ल?' �:? 
�?-? :P, -K ]0? �� ?Q]�1 �K /K1 1�-? :P? 

 

A. '9O-' B. '}रI-O1I' 

C. '++I,?' D. '�O ल?' 
 

Q44. The square root of (9+3 5)(9-3 5) is: 
 

A. 2 B. 6 

C. 0 D. 4 

Q44. (9+3 5)(9-3 5) �? =�?/Kल :P: 
 

A. 2 B. 6 

C. 0 D. 4 

 

Q45. In a bag, there are 8 red balls, 7 blue balls, and 6 green balls. One ball is picked up 

randomly. What is the probability that it is neither red nor green? 
 

A. 3/7 B. 2/7 

C. 2/3 D. 1/3 
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Q45. �� -P� /O, 8 ल?ल �O/O, 7 ?IलI �O/O, �1 6 :1I �O/O :ै䠂। �� �O/ �K -O-1-I- +�� 9O � ?0? �?-? :P। �9 -?- �ी ]0? 9�.?=?? :P �� 

0: ? -K ल?ल :P �1 ? :I :1?? 
 

A. 3/7 B. 2/7 

C. 2/3 D. 1/3 

 

Q46. 
If a : b = 16 : 3, then what is  ? 

 

A. 13: 19 B. 19: 13 

C. 3:19 D. 19: 3 

Q46. 

0�/ a : b = 16 : 3 :K, -K  �? /?? ��-?? :K�?? 
 

A. 13: 19 B. 19: 13 

C. 3:19 D. 19: 3 

 

Q47. Chandra buys a mixer grinder for Rs. 3500 and sells it at a loss of 15%. What is the selling 

price of the mixer grinder? 
 

A. 2500 B. 2895 

C. 2975 D. 2960 

Q47. ि�9 3500 y+0O /O �� �/]91 ्䵇?��?1 �1I/-? :P �1 �9O 15% �O  ?J�9?? +1 -Oि /O-? :P। �/]91 ्䵇?��?1 �? �=ि0 /Kल㉍0 ��-?? :P? 
 

A. 2500 B. 2895 

C. 2975 D. 2960 

 

Q48. Which one of the following is a good conductor of electricity? 
 

A. Plastic B. Wood 

C. Glass D. Copper 

Q48. �?म⹍?�ल��- /O 9O �L?, �-�लI �? 9Jि?ल� :P? 
 

A. oल?�}�� B. ल�)I 

C. �?�� D. ,?�-? 
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Q49. How many oxygen atoms are there in one molecule of carbon dioxide? 
 

A. One B. Two 

C. Three D. Half 

Q49. �?-?? ??��]9?�? �O  �� 
,J /O �]9I�? �O  ��-?O +1/?,J :K-O :ै䠂? 
 

A. ए� B. ?K 

C. ,I0 D. �/? 
 

Q50. Which of the following is called the powerhouse of the cell? 
 

A. Ribosome B. Mitochondria 

C. Golgi apparatus D. Lysosome 

Q50. �?म⹍?�ल��- /O 9O ��9O, �K�>�? �? +?=1:?�9 �:? �?-? :P? 
 

A. 1?�-K9K/ B. /?��K�I�o्䵑0? 

C. �Kल㉍�I ए+1O�9 D. ल?�9K9K/ 

 

Q51. What does the image indicate? 

 

 
 

A. Fillet and radius gauge B. Screw pitch gauge 

C. Snap gauge D. Plug gauge 
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Q51. ��-�-म⹍- ]0? />??-? :P? 

 

 
 

A. �,लO� �1 1O)!09 0?+ B. }रू ?+� 0?+ 

C. }0P+ 0?+ D. oल� 0?+ 

 

Q52. For tapping with M20 X 2.5 tap, what size drill will you use? 
 

A. 22.5 B. 20.5 

C. 17.5 D. 24.5 

Q52. M20 X 2.5 
�>, �O  �?��?�9- �1?O �O  �ल� �+ ��9 ��?1 �ी �्䵑ल �? �+0K� �1K�O? 
 

A. 22.5 B. 20.5 

C. 17.5 D. 24.5 

 

Q53. Which one of the following is used for measuring the angle? 
 

A. Divider B. Trammel 

C. Surface Gauge D. Bevel Protractor 

Q53. �?म⹍?�ल��- /O 9O �L? 9? �� �K, /?+?O �O  �+0K� /O �-? :P? 
 

A. ?=.?�� B. �?ल 

C. 9,: /?+ D. -O=ल �?o?? (�KरOM�1) 
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Q54. Which one of the following is used for marking and drawing circle and arcs on sheet 

metal? 
 

A. Divider B. Scribers 

C. Steel Rule D. Flat Steel Square 

Q54. �?म⹍?�ल��- /O 9O �L? 9? �� >I� /O�ल +1 =L- �1 ��?  �ी /?��? � �1 ्䵑?��� �O  �+0K� /O �-? :P? 
 

A. ?=.?�� B. �}र-O9= 

C. }�Iल -00/ D. �+�? }�Iल =�= 
 

Q55. Which one of the following gas welding flames require excess of acetylene? 
 

A. Neutral welding flame B. Carburizing welding flame 

C. Oxidizing welding flame D. Nitriding welding flame 

Q55. �?म⹍?�ल��- /O 9O �L? 9I �� �P9 =O�ल㉍?�� /O 
�?� �9O�IलI? �ी �=�0�-? :K-I :P? 
 

A. -0��र0 =O�ल㉍!�� oलO/ B. �?-I=1?����� =O�ल㉍!�� oलO/ 

C. ��M9!?����� =O�ल㉍!�� oलO/ D. 0?�रI!?��� =O�ल㉍!�� oलO/ 

 

Q56. Which one of the following is NOT the soldering fluxes? 
 

A. Inorganic fluxes B. Organic fluxes 

C. Resin fluxes D. Rosin fluxes 

Q56. �?म⹍?�ल��- /O 9O �L? 9? >Kल㉍डOर1�� 
+�>? (oलJ]9O9) ?:K :P? 
 

A. 
�?-=-0� 
+??�� B. �?-=-0� 
+??�� 

C. 1O��0 
+??�� D. 1K��0 
+??�� 
 

Q57. Which one of the following inert gases is used in TIG welding? 
 

A. Argon-helium mixtures B. Argon-Nitrogen mixtures 

C. Argon-CO2 mixtures D. Helium-Nitrogen mixtures 
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Q57. �?म⹍?�ल��- /O 9O �L? 9I �?��ि0 �P9 �I���I (TIG) =O�ल㉍?�� /O �+0K� �-I :P? 
 

A. ��=0-:I?ल0/ ?/्䵦+ B. ��=0-0?�रK�0 ?/्䵦+ 

C. ��=0-�?-=0!?�ऑM9?�! (CO2) ?/्䵦+ D. :I?ल0/-0?�रK�0 ?/्䵦+ 

 

Q58. Which one of the following operations is used for cutting away excess metal in a flange or 

flash from a sheet metal? 
 

A. Notching B. Punching 

C. Shearing D. Trimming 

Q58. �?म⹍?�ल��- /O 9O �L? 9? �� �+1O>? >I� /O�ल 9O 
�?� �?�ल? :ु� ��??1? (flange) 0? oल> �?� �1 
ल� �1?O �O  �?/ 

�-? :P? 
 

A. 0K���� B. +����� 

C. ?Oए91��� D. /र?/�� 

 

Q59. What does the image indicate? 

 

 
 

A. Locked seam joint B. Cap joint 

C. Angular joints D. Flanged joint 

Q59. ��-�-म⹍- ]0? �/�>?- �1-? :P ? 

 

 
 

A. लIM! 9I/ �K) B. �O + �K) 

C. �K+I0 �K) (ए��Iल1 �I���) D. oले䜂�O! �K) 
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Q60. How many number of strokes are there in a Tractor's engine? 
 

A. 1 B. 2 

C. 3 D. 4 

Q60. ्䵏O]�1 �O  ���? /O ��-?O }्䵏K� :K-O :P? 
 

A. 1 B. 2 

C. 3 D. 4 

 

Q61. Which one of the following tools is used for cutting the bolts to nuts of Tractor body sheet 

efficiently? 
 

A. Hammer B. Air Chisel 

C. Chisel D. Hacksaw 

Q61. �?म⹍?�ल��- /O 9O �L? 9? ��?1 �J >ल-? 9O ्䵏O]�1 -Q?I +1 ?�ो䬂 �O  �ल� -Kल㉍�ट9 �?�?O �O  �+0K� /O �-? :P? 
 

A. :-K)? (:P/1) B. ए01 ���ल 

C. ���ल D. :P�9I 
 

Q62. Which one of the following rivets tools is used to support the head of the rivet which is 

already formed and is also used to prevent damage to the shape of the rivet head? 
 

A. Dolly B. Snap 

C. Drift D. Pop 

Q62. �?म⹍?�ल��- र1=O� ��?1ो䬂 /O 9O �L? 9? र1=O� �O  :O? �K 9:?1? /O?O �O  �+0K� /O �-? :P �K�� +K=? /O :I -? िJ�? :P �1 र1=O� :O? �O  
��?1 �ी :?�? .I 1K�?O �O  �?/ �-? :P? 

 

A. !IलI B. }0O+ 

C. )्䵑o� D. +I+ 
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Q63. What does the symbol indicate? 

 

 
 

A. Push button B. Pilot actuation 

C. Plunger D. Rotary knob 

Q63. �-I� ]0? />??-? :P? 

 

 
 

A. +I? -�0 B. +?0ल� एM�Iए?0 

C. oलIo�1 D. 1K�1I 0K- 

 

Q64. Which one of the following is a precision measuring instrument used for measuring the 

internal dimensions of piston? 
 

A. Depth micrometer B. Large micrometers 

C. Dial bore gauge D. Steel rule 

Q64. �?म⹍?�ल��- /O 9O �L? 9? �� >Jp-? /?+?O �? ��?1 :P ��9�? �+0K� �+}�? �O  �न⡍-र1� ��?1 �K /?+?O �O  �ल� ��0? �?-? :P? 
 

A. !Oo- /?�रK/I�1 B. ल?�= /?�रK/I�1 

C. !?0ल -K1 �O� D. zल }�Iल 

 

Q65. Which one of the following is used to detect vacuum leaks at idle speed, sticking valves, 

worn rings, clogged exhaust, incorrect timing and positive crank case ventilation (PCV)? 
 

A. Telescopic gauge B. Vacuum gauge 

C. Ring gauge D. Snap Gauges 

 

 

 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 36, Tractor Mechanic Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 12, 2019  Page 20 of 27 

 

Q65. �?म⹍?�ल��- /O 9O �L? 9O �� �? �+0K� �/>? ��- +1 �?=??- लI�O � (=O]0K/ लI� �� ��?ल }+I?), �}���� � =?ल㉍=9, �K�I :ु� 
र1�_9, ]ल?_? �_�Q}�, }J��+K,? �?��/�� �1 +Q����= िै䠂 � �O 9 =O��लO>? (PCV) �? +-? ल�??O �O  �ल� ��0? �?-? :P? 

 

A. �O?ल}�K+ �O� B. -0=?=, �O� 

C. 91�� �O� D. }0O+ �O� 

 

Q66. What does the image indicate? 

 

 
 

A. Hydraulic Puller B. Mechanical Puller 

C. Pneumatic Puller D. Electrical Puller 

Q66. ��-�-म⹍- ]0? �/�>?- �1-? :P? 

 

 
 

A. :?�्䵑K?ल� +Iल1 B. /O�O -0�ल +Iल1 

C. o0ू/O/�� +Iल1 D. �लO�Mर�ल +Iल1 
 

Q67. What is the least count of Mechanical Plunge Type Dial Gauge? 
 

A. 0.02mm B. 0.005mm 

C. 0.01mm D. 0.025mm 

Q67. /P�O �?�ल oलन⡍� �?�+ ??0ल �O� �ी �?म⹍?-/ ��?-I (लI}� �?���) ��-?I :K-I :P? 
 

A. 0.02mm B. 0.005mm 

C. 0.01mm D. 0.025mm 
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Q68. Which one of the following instruments is used to indicate the distance travelled by a 

vehicle? 
 

A. Speedometer B. Odometer 

C. Engine RPM meter D. Traction control indicator 

Q68. �?म⹍?�ल��- �+�1,ो䬂 /O 9O �L? 9? �� =?:? �?1? -0 �ी �� /K1I �K />??-? :P? 
 

A. }+I!K/I�1 B. �!K/I�1 

C. ���0 �1+Iए/ (RPM) /I�1 D. रPM?0 ��रKल ��)!�O �1 
 

Q69. What is the purpose of Tempering? 
 

A. To increase the brittleness B. To improve machining characteristics 

C. To improve wear resistance D. To relieve the steel from internal stresses and 

strains 

Q69. �Oम⹍+र1�� �? �oO�0 ]0? :P? 
 

A. .��I1,? (-}�ल0O9) -]?0? B. /?I-0�� ल्䵌+ो䬂 �K -]?0? 

C. /��?� 1K/I (?=01 1O��}���) �K -]?0? D. }�Iल �K �o,91� ,0?= �1 ���?= (���10ल }रO9 �1 
}रO0) 9O 1?:, �??0 �10? 

 

Q70. Which one of the following is NOT the type of Engine lubrication system? 
 

A. Forced feed system lubrication B. Splash lubrication 

C. Combined lubrication D. Depressurized lubrication 

Q70. �?म⹍?�ल��- /O 9O �L? 9? �� ���? लJ�ि�O >? �9}�/ �? ��?1 नही䀂 :P? 
 

A. ,K}!= ,I! ?9}�/ लI-}�O ?0 B. }oलO? लI-}�O ?0 

C. �o-?�o! लI-}�O ?0 D. )!�O91?जᱍ! लI-}�O ?0 

 

Q71. What is the mode of cooling in Tractors engine? 
 

A. Air cooled B. Water cooled 

C. Oil cooled D. Vacuum cooled 
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Q71. ्䵏O]�1 ���? /O  �?? �1?O �? -1I�? ]0? :P? 
 

A. :=? 9O  �!? �10? B. +?0I 9O  �!? �10? 

C. ,Oल 9O  �!? �10? D. -0=?=, 9O  �!? �10? 
 

Q72. Which one of the following components is used to bring the cold engine to the operating 

temperature quickly? 
 

A. Carburetor B. Injector 

C. Thermostat D. Pump 

Q72. �?म⹍?�ल��-  ��ो䬂 /O 9O �L?9? ��  न⡍?O ���? �K >I्䵈-? 9O �+1O���� -?+ +1 ल??O �O  �+0K� /O �-? :P? 
 

A. �?1-I1O�1 B. ���OM�1 

C. -/K}�O� D. +�+ 

 

Q73. Which one of the following is the power output of an engine, available at the flywheel? 
 

A. Indicated horsepower B. Frictional horsepower 

C. Horsepower D. Brake horsepower 

Q73. �?म⹍?�ल��- /O 9O �L?9? �� ���? �? +Q=1 ���+J� :P �K oल?� }:Iल +1 �+ल9? :K-? :P? 
 

A. ��)!�O �O! :L9= +I=1 B. ��M?0ल :L9= +I=1 

C. :L9= +I=1 D. }O� :L9= +I=1 
 

Q74. What is the material of the piston? 
 

A. Alloy steel B. Cast aluminum alloy 

C. Plain carbon steel D. Brass 

Q74. �+}�? �? +/?.? ]0? :P? 
 

A. एल?0 }�Iल B. �?}� एलI?/-00/ एल?0 

C. oलO0 �?-=0 }�Iल D. }?9 
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Q75. What is the function of valve gear mechanism? 
 

A. To rotate the cam B. To reduce the speed of crankshaft 

C. To transmit power D. To open and close inlet and exhaust valve 

Q75. =?ल㉍= ��01 /P�O �?जᱍ/ �? �?0? ]0? :P? 
 

A. �O / (cam) �K 1K�O� �10? B. रै䠂 � ??फ़幍� �I �-, �K �/ �10? 

C. +I=1 9��?91, �10? D. �=O? (�0लO�) �1 ए_�I}� =?ल㉍= �K �Kल0? �1 -�? �10? 
 

Q76. What is the positive plates of a lead acid battery? 
 

A. Lead dioxide ( PbO2) B. Spongy lead (Pb) 

C. Lead sulphate (PbSO4) D. Sulphuric acid (H2SO4) 

Q76. �� लO? ��9? -P�1I �ी ???m/� oलO� ]0? :P? 
 

A. लO! !?�ऑM9?�! (PbO2) B. }+��I लO! (Pb) 

C. लO! 9ल㉍,O � (PbSO4) D. 9ल㉍o09ू1� ए?9! (H2SO4) 

 

Q77. What is the cetane rating of Diesel fuel? 
 

A. 25 B. 45 

C. 80 D. 90 

Q77. ?I�ल � �?? �? 9O�O? 1O���� ]0? :P? 
 

A. 25 B. 45 

C. 80 D. 90 

 

Q78. What is the main objective of the tread pattern on tractor tyres? 
 

A. The tread grooves pass air between the tyre 

and road surface, thereby preventing tyre from 

overheating. 

B. The crests between the tread grooves absorb 

road noise. 

C. In wet conditions, the tread grooves expel 

water that is drawn between the tyre and 

cultivated land surface. 

D. The tread pattern protects the tyre's inner 

carcass from small stones and pieces of glass. 
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Q78. ्䵏O]�1 �?09? +1 ्䵏O? +P�?? �? /J_0 �oO�0 ]0? :P? 
 

A. रO! ्ू䵇}9 �?01 �1 1K! �I 9,: �O  -I� :=? +?9 �1,O :ै䠂, 
��9�O  �?1+ �?09= �K 
�/� �/= :K0O 9O 1K�,O :P| 

B. रO! ्ू䵇}9 �O  -I� �O  रO }टὍ9 1K! �O  ?K1 �? 
=?K?+ �1,O 
:P| 

C. �IलI �}--, /े䜂, रO! ्ू䵇}9 �?09= �1 �O,I �I �/I0 �O  -I� 

,P0?1 +?0I �? -0��?90 �1,O :ै䠂| 
D. रO! +P�0= �K�O +m-1ो䬂 �1 �?�� �O  �I�)ो䬂 9O �?09= �I 
�o,91� ्䵌-, 9O 1्䵌? �1,O :ै䠂| 

 

Q79. What is the main objective of four-wheel drive system (4WD) in tractor? 
 

A. Improved cornering on dry road surfaces B. Eliminates the need of snow tyres, tyre chains, 

etc. 

C. Ensures effective transmission of engine torque 

to all four wheels, even on slippery land surfaces 

D. Ensures that effective braking can be 

performed, even on slippery surfaces 

Q79. ्䵏O]�1 /O ,K1 }:Iल ्䵑?�= �9}�/ (4WD) �? /J_0 �/O�0 ]0? :P? 
 

A. 9�ूI 1K! �I 9,: +1 �o0, /K)0? B. -,=  �O  �?01,�?01 �O0 �/? �I �z1, �K 9/?o, �1,? :P। 

C. 9.I �?1 +/:0ो䬂 +1 ���0 � ू+= -ल (�?�= ) �? �.?=I 
9��?1 9I-0���, �10?, 0:?? ,� �� �,9ल?� .?ू/ �I 9,: +1 
.I| 

D. �.?=I }O��� � 9I-0���, �10?, 0:?? ,� �� �,9ल?� 9,: 
+1 .I| 

 

Q80. What is the basic purpose of tyre rotation on tractor? 
 

A. Avoid tread ply separation B. Equalize wear 

C. Get better ride D. Uneven wear 

Q80. ्䵏O]�1 /O �?01 1K�O>? �? /J_0 �oO�0 ]0? :P? 
 

A. रO! oल?� �K 
ल� :K0O 9O 1K�0? B. +:00O -1?-1 (ए�I �ल?�� ?=01) 

C. -O:,1 9=?1I ?/ल0? D. 
9/?0 - 9?= 
 

Q81. What is the wheel base of a tractor? 
 

A. Distance between the centres of the front and 

rear wheels 

B. Distance between the centres of the front tyres 

C. Distance between the centres of the rear tyres D. Extreme length of the vehicle 
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Q81. ्䵏O]�1 �O  +�:0ो䬂 �? �??1 (}:Iल -O9) ]0? :P? 
 

A. 
�लO �1 ?+�लO +/:0ो䬂 �O  �े䜂 � �O  -I� �I ?1ूI B. 
�लO �?09= �O  �े䜂 � �O  -I� �I ?1ूI 

C. ?+�लO �?09= �O  �े䜂 � �O  -I� �I ?1ूI D. =?:0 �I �1/ (एM9रI/) लo-?� 
 

Q82. What is the function of antilock brake system (ABS) in trailer? 
 

A. Reduces the stopping distance B. Minimises' the brake fade 

C. Maintains directional control during braking by 

preventing the wheels from locking 

D. Prevents nose dives during braking and 

thereby postpones locking of the wheels 

Q82. ्䵏Oल1 /O ���IलQ� िO� �9}�/ (�-I�9) �? ]0? �?0? :P? 
 

A. y�0O �I ?1ूI �/ �10? B. }O� �/ (}O� ,O !) �10O �K -0o0,/ �10? 

C. }O� ल�?0O �O  ?L1?0 +/:0ो䬂 �K लI��� � 9O -�? �1 
!?01OM?0ल -00�}+ 1�0? 

D. }O� ल�?0O �O  ?L1?0 �K,? �?0O 9O 1K�0? (0K� !?�}�) �1 
��9�O  �ल,O +/:0ो䬂 �I लI��� � }-��, :K �?,I :P| 

 

Q83. What is the remedy of engine noise caused due to broken piston ring? 
 

A. Replace B. Grind the use 

C. Repair D. Adjust 

Q83. �K�I :ु� �+}�? र1�� �O  �?1, ���? �O  >K1 �? ]0? �+ि?1 :P? 
 

A. �-,}-?+0 (91oलO9) B. 1�) �1 �+0K� �10? (्䵇?��! ?I 0ज़ू) 

C. /1o/, D. 9/?0K��, (ए!�}�) 
 

Q84. What will be the pressure required to lift the Tractor 75000N using a hydraulic cylinder, 

with an effective area of 0.0103m2 ? 
 

A. 81.6 bar B. 72.8 bar 

C. 92.4 bar D. 38.7 bar 
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Q84. 0.0103m2 �.?=I �O},ल �O  9?. 75000N :?�्䵑K�ल� �9�ल�?1 �? �0K� �1-O :ु� ्䵏O]�1 �K � ??O �O  �ल� ��-?O /?- �ी 
�=�0�-? :K�I? 

 

A. 81.6 bar B. 72.8 bar 

C. 92.4 bar D. 38.7 bar 

 

Q85. What is engine stroke length? 
 

A. Half the throw of crank B. Double the throw of crank 

C. Three times the throw of crank D. Equal throw of crank 

Q85. ���? }्䵏K� लम⹍-?� ]0? :P? 
 

A. रै䠂 � }K �I �/I B. रै䠂 � }K �I ?K�I0I 

C. रै䠂 � }K �I ,I0 �I0I D. रै䠂 � }K �O  -1?-1 
 

Q86. Which one of the following components is the fuel and air mixture together in diesel 

engine? 
 

A. Carburetor B. Injector 

C. Combustion chamber D. Inlet port 

Q86. �?म⹍?�ल��-  ��ो䬂 /O 9O �L?9? �� ?I�ल ���? /O �� 9?. � �?? �1 :=? �? �/्䵦, �1-? :P? 
 

A. �?-I=1O�1 B. �o�OM�1 

C. �o-9?0 �Oo-1 D. �0लO� +K�= 
 

Q87. Why crankshaft bearings are made in two halves? 
 

A. Easy to manufacture B. Easy to replace 

C. Cheap to manufacture D. Lesser wear & tear 

Q87. िP न⡍�>?o� �-0र1�_9 /K 
p? /O ]0ो䬂 -?I :K-I :P? 
 

A. -0?0O /े䜂 �9?0 B. �-,}-?+0 (91oलO9) /े䜂 �9?0 

C. -0?0O /े䜂 9},? D. �/ �ू�-,ू� 
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Q88. Which one of the following components is used to connect Crankshaft with piston? 
 

A. Cylinder head B. Cylinder block 

C. Camshaft D. Connecting rod 

Q88. �?म⹍?�ल��- /O 9O �L?9? ��  �� िै䠂 �>?फ़幍� �K �+}�? 9O �Kड?O �O  �?/ �-? :P? 
 

A. ?9?ल�!1 :O! B. ?9?ल�!1 mल?� 

C. �O o??o� D. �0O�M��� 1K! 
 

Q89. What is the effect in the tractor exhaust system due to deposit of carbon? 
 

A. Will increase back pressure B. Will reduce back pressure 

C. Will have no effect on back pressure D. Will result in fluctuating pressure 

Q89. �?-?? �O  �/?O �O  �?1, ्䵏O]�1 �_�Q}� �9}�/ /O ]0? �.?= :K-? :P? 
 

A. ?+�ल? ??- -] �?0O�? B. ?+�ल? ??- �/ :K �?0O�? 

C. ?+�लO ??- +1 �K� �.?= 0:I� :K�? D. फ़幍लM�Iए/��� ??- /े䜂 +91+?/ :K�? 
 

Q90. What is the main objective of a balancer shaft? 
 

A. Balance the timing in the movement of the two 

groups of pistons 

B. Increase inertia force of the rotating crankshaft 

C. Reduce vibrations caused by the crankshaft 

rotation 

D. Adjusts the timing of the intake and exhaust 

valve openings 

Q90. �� -PलO91 >?फ़幍� �? /J_0 �oO�0 ]0? :P? 
 

A. ?K ?+}�0 9/ू:ो䬂 �I �-, �O  9/0 /े䜂 9�,Iल0 �10? B.  ू/,I :I� रP o�??o� �? �),? -ल (�0?9=0? ,K9=) -]?0? 

C. रP o�??o� �O   +ू=0 �O  �?1+ �o+0  �?0? D. �o�O� �1 ए_�I}� =?ल㉍= �Iल0O �O  9/0 /े䜂 9/?0K�0 

�10? 
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